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RRBs — CRP RRB-XI1I {OMice Assistants) and CRP RRB-XI1I (Officers)

Preliminary Examination

Office Assistants and Officer Scale 1 :
05.08.2023, 06.08.2023, 12.08.2023, 13.08.2023 and
19.08.2023.

Single Examination

Officers Scale 1T & I11 : 10.09.2023

Main Examination

Officer Scale I : 10.09.2023
Office Assistants : 16.09.2023

PSBs — CRP CLERK-XIIIL,

CRP PO/MT-XIII & CRP SPL-XII1

Clerks

Probationary Officers Specialist Officers

Preliminary 26.08.2023
Examination 27.08.2023
02.09.2023

23.09.2023 30.12.2023
30.09.2023 31.12.2023
01.10.2023

Main 07.10.2023
Examination

05.11.2023 28.01.2024




Shivangi Gupta 14 hours ago

Home work: top to bottom:
Preet
Asha
Tom..

Read more
Dﬁ gﬂ Reply

CRIME MASTER GOGO
NYC SESSION GYRUDEV ..

Dﬁ gﬂ Reply

Pirate's Life 9 hours ago

Thanku sir for wonderful session @ @ @ | m just addicted to ur way of teaching & & & HW Ans
Preet

Asha

Tom

Tua

Hira

Jiya

Vina

16 hours ago




Vandana Chhatri 19 hours ago

THANK YOU SIR FOR THE SESSION 4w
Hw Ans=7.PREET 6.ASHA 5.TOM 4. TUA 3.HIRA 2.JIYA 1T.VINA

[ﬁ. gﬂ Reply

Surbhi Sinha 6 hours ago

7,6,5,4,3,2,1====preet asha tom tua hira jiya vina = & thank you sir for this brilliant session

[ﬁ. gﬂ Reply

Aalap 8 hours ago
Mice class Thank You sir

HW ANSWER:
Preet__

Read more
51 GH  Reply

Riya Mandaokar & hours ago

Thank you sir for the session ans is
Preet
Asha
Tom..




Tanisha p 19 hours ago Priya Mandal 5 hours ago

Thank u sir ., Preet
Homework — Asha
/- Preet Tom

6-Asha.. Tua.

Read more
I:IE gﬂ Reply

Vishnu Gupta 17 hours ago

/- Preet
6- Asha
9- Tom
4-Tuaa..

Read more

I:IE gﬂ Reply

akanksha 10 hours ago

Thank u so much sir for this very amazing and wonderful session & & & & my answer for today' homework is like....
/ preet

6 asha

o Tom ..




Muskan Rai 19 hours ago
ANSWER=FLOOR NAME

7 PREETI
& ASHA
3 TOM.

Read more
5 GF  Reply

harsh sharma 18 hours ago

homework answer
Preet
Asha
Tom..

Read more
75 GH  Reply

Neetu Maurya 17 hours ago

hw ans
preet
asha
tom.

M

Shreta Basak 19 hours ago

Thank you sir....
Homework -
/-preet

6-asha..

Read more
75 GF  Reply

Manisha Goud 19 hours ago

Homework.....
Preet

Asha

Tom..

Read more
75 &GP Reply

Sanchita Gupta 18 hours ago

7. Preet
6.Asha
2. Tom
4. Tua..



SHIVANGI 8 hours ago

Homework answer is
PREET

ASHA

TOM..

Read more
I:Iﬁ gﬂ Reply

Niharika Jha 16 hours ago

Homework answer
Preet Asha Tom Tua Heera Jiya Veena

I:Iﬁ gﬂ Reply

Fatima & 19 hours ago

7 -PREET
6- ASHA
5-TOM

4-TUA .

Fatima & 19 hours ago

7 -PREET
6- ASHA
2 -TOM

4-TUA

Read more
05 GF  Reply

Nitika Gupta 19 hours ago

Homework
7 preet
6 asha
o tom..

Read more
05 GH  Reply

Sima Sharma 19 hours ago

Homework answer
[ - preet
6 - Asha
o-Tom..



*

IBPS / BANK / LIC / SBI

Seven persons- Asha, Tom, Jiya, Hira, Tua,
Preet and Vina are living in a seven-storey
building, but not necessarily in the same
order. The ground floor 1s numbered 1 and the
floor above it 1s numbered 2, and so on, until
the topmost floor 1s numbered 7.Vina lives on
the lowermost floor. Only four people live
between Vina and Asha. Tua lives on an even
numbered floor. Only two people live
between Tua and Preet. Tom, who is an
immediate neighbour of Asha,lives on an odd
numbered floor. Only two people live
between Asha and Hira. Jiya lives on an even

numbered floor, below Tua.

at 9:00 AM

|Td SFi<h- AT, ST, 51T, BT, T, i 37

(a e . ~ . T A
ST Uk g1 5iSTAT 3HRA § 18 ' B, Afed Sie
&1 o 36t 56W | | e shl AT | § 3R 38
S T HiSTeT <hl TT 2 B, 37K 3t avE, 9ol

0 <O\ 0\ . 0 N O [aY O\

S {5 sht w7 21 A1 g9 e 6iea
9T TET 2| AT 3T ST ok S shaed IR AN
T&d 2| T3TT Tk §H ShAiTehd Hivel 0 T&dT 8 qaT
3R a0 o S et <1 =A<k & &1 3, 3
AT ohT (Heheay USTEt ©, Teh faud ST aTc]
ST T T&dT 21 TR 3T SR ok sl shaled &l
Tk T &l TS/ TAT o =il T & Ee&1 o]
ATl T &t Rl
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Seven persons- Asha, Tom, Jiya, Hira, Tua,
Preet and Vina are living in a seven-storey
building, but not necessarily in the same
order. The ground floor 1s numbered 1 and the
floor above it 1s numbered 2, and so on, until
the topmost floor 1s numbered 7.Vina lives on
the lowermost floor. Only four people live
between Vina and Asha. Tua lives on an even
numbered floor. Only two people live
between Tua and Preet. Tom, who is an
immediate neighbour of Asha,lives on an odd
numbered floor. Only two people live
between Asha and Hira. Jiya lives on an even

numbered floor, below Tua.

at 9:00 AM
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Direction: Study the following arrangement carefully & answer
the following questions:

594326815427566834

Which digit will be the 7t at right from the 10" from left in this series?
T SGATH I | 10 | 1 3R 791 37k i AT ZRIT?

(A) 1
(B) 2
(OR
(D) 4
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If only one English word is possible from the 314, 5t | & 8t letter of the word
APARTMENT. Which one from the following will be the 1t letter of that word?
If such a word is not possible, then answer ‘X’ & if more than one such words

are possible, then answer ‘M’.

Ife APARTMENT 3762 o &R, Ui 31 313 378’ & haeT Ueh U ITeg T
g FaferRaa ¥ & i A1 34 91eg T UET 78R BITT? AfS VAT ITeg HYd T &, T
X' T I S TS VW UF ¥ 37Tk ITe WU B, a1 "M T 3T 2|

(A) A
(B) T

O X
(D) M
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Q. The following questions are based on five words give below:

ACTMHS INETKA MBUTAN VAR IND PWQOOF

If in the given words, +2 is done in each consonant in the English alphabetical
series and -2 is done in each vowel, how many words will start or end with vowel?

7ty fw e vredt § SRS Fuiiashives sfere # aeie e | +2 foRar s
3 Sredn TR i -2 RRT ST g, ﬁwmﬁﬁmﬁmw{ﬁmmw
g2

(1) More than three

(2) Three

(3) Two
(4) One
(5) None
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Q. The following questions are based on five words give below:

ACTMHS INETKA MBUTAN VAN IND PWQOOF

How many letters are there between 3rd letter of second word from the left and
sixth letter of third word from the right in alphabetical series?

STUTHTAT HTTET eh FTHAR, ST © T 968 oh 3rd Y FR I § e 9o
%maméaaﬁaﬁwﬁmﬁam%

(1) Seven

(2) Five

(3) Six

(4) Eight

(5) None of these



‘gn | IBPS/BANK/LIC/SBI | (OIS at 9:00 AM_|
Statements:A>Fs C=D<E

Conclusions: 1. A > E
II. F<E

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Statements:A>C=M2R<H

Conclusions: I. A > R

nLC2Z2H

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or 11 is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.



Statement:B<C=DSXSY<Z
Conclusions: I. B <X
| VA6

ot
=,
=

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.
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Statement:MZOZL2T=EZD
Conclusions: 1. T> 0O
II. T=0

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.
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Statement:SSPSA=R>ESD
Conclusions: I. A > D

.S S E

(1) If only conclusion 1 is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.
(4) If neither conclusion I nor 11 is true.

(5) If both conclusion I and II are true.
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Q. In a Certain code MIND is written as 1913197 ,than find the code for
JOY ?

Q.us fAfara shig & MIND &1 &g 1913197 foT@m T 8 @t JOY ST <Rl
FIT R 2

111729 <Ei>
oL
131931

121719
191820

None of these

S N



'S
Q. In a Certain code FLOWER is written as 9115 ,than find the code

for COMPUTER ?

Q.= fAfya &g & FLOWER T 1€ 9115 for@r mar @ @t COMPUTER
T hIS T BRI 2

9115 <§i}
91111

91155
991155

None of these

SN
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Q. In a Certain code FATHER is written as LBVPJA ,than find the code
for TOY ?

Q. fAfara e # FATHER T %1€ LBVPJA for@ar mar g at TOY T
SIS T BT 2

3

VUF
VDT
VWT

None of these

SO
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q i !
Thinking , w_ith\(i)q\t , solution 1s coded as 45,18, 60

Something , between , creation is coded as 30, 29, 15

Agree , thing , diverted , problem is coded as 20,19 ,9,11
Holding , to , handle , success is coded as 24 ,15,6, 26

S
What is code of “ Portugal « ? | }6 v 7
B uk
IS\ Oy 2
A. 36 B. 22

C. 16 i)./a/J//

E. NOT
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Statements:
Only tables are chairs.

Some tables are desks.

Conclusions:
I. All chairs are desks.

II. Some desks are
tables.

at 9:00 AM

S W HiHAT 8
HY TqA T &

feeR:
|t FHYAT 6 2
FS Eh ¢ ¢l
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Statements:

Only tables are chairs.

Some tables are desks. ’a

Conclusions:
I. All chairs are desks. 7< /

II. Some desks are tables.

AN Chart (am g e - ><
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Statements :

Only a few teachers are
doctors.

0% teachers are lawyers.

Conclusions :

I. All lawyers are teachers.

I1. Some doctors are not
lawyers.

<h 2

HA HS Teres Sraed 2
0% TITeTeh Tehiet &l
IELCOE

T Tehier ftere 2

FO SrF TehleT gl
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at 9:00 AM

Some All No Some not Only Only a few
Frequently 100% 0% Not more than None but All but some
Generally Each None Only few
Occasionally Every Only a few not
Sometimes Complete
Mostly/almost/ | Full
approximately
At least Every single
A few / few /
fewer
Maximum
Minimum
1-99%

Fraction
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Statements :

Only a few teachers are

doctors.

0% teachers are lawyers.
Conclusions :

I. All lawyers are teachers. X

I1. Some doctors are not

lawyers. /
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Statements :
All circles are squares.

Some squares are rectangles.

Conclusions :

I. All rectangles being squares is
a possibility.

I1. All circles are rectangles.

HA:
ot I = B
FT T I

femy:

T ST o 7 g9 <hl
HHTIAT 2
Tt I 3aa
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Statements :
All circles are squares.

Some squares are rectangles.

Conclusions :
I. All rectangles being squares is
a possibility. /

I1. All circles are rectangles. 7<

at 9:00 AM

@S
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A family consists of eight members J , K, L, M,E,F,G and H. K is the
parents of E who is the only sister of J . H is father in law of K. M is the only
daughter of H . G is the son of F;who‘is son in law of H . L is father of J .

Uk URER T M Teeg aia & J, K, L, M, E, F, G 3R H| K, E &7 qrar-fuar & 5t J
<Y THET & Bl H, K T @61 21 M, H Y ThATT 3¢ 21 G, F 19 &, S H &1

aMTE 2l L, J &7 fuar 2

S Lo
How many female are there among the given members of the family ? %
URER & fou 7o & fohat wieeT aewT 82 G 5
(A) Two /
(B) Three — ) ﬂ
(C) Four L

(D) More than Four
(E) CND 35
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Q. In a class ot 90 students, numbers of boys are twice the number of
girls. Rani is 58th from the left end and there are 20 boys to the right of
Rani, then find the number of girls to the right of Rani? (if Rani is girl)

90 BTAT chY Uk HEAT W, TSI chl HEAT, TS (RAT chl HEAT T &1 AT
21 T AT B A 58 o TAT X & 3T THT ok ST(EA TR 20 SISk 8,
T o FTfe on ergfera <Y Tieam s gft? (3R U eTgeht 8)

YR Y %o

1) 15 |

g;;/ o B + 16 fand 208 TRG 6 f
S <

%/12 S7 S o (°

(5) None of these
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There are nine persons B, C, D, E, F, G, H, J
and K are placed one above the another, but
not necessarily in the same order. Four
persons are placed between person E and
person C and one of them are placed either at
top or at bottom. Only one person is placed
between C and F, which placed below the C.
Three person are placed between G and H. H
1s placed neither just above nor just below C.
Only one person is placed between H and K.
Not more than two person are placed below
the K. Only one person is placed between D
B, which placed above J. E and K are not
placed adjacent to each other. Either H or G
placed at bottom.

iR B, C,D,E,F,G, H, J3IRK Uk h

UL Ueh Td TTU &, S fohd STt ol foh St shA |
2l Ffh E SR AR C o Sfi= IR Ffh W T
2 S STH 9 Teh 1 a1 S AT = T S 81 C
3 F o o< shalcl Teh i<k WET TR R, ST C <k
I TaT T Rl G 3R H & st i1 =3k W@ Y
2 H & Td8 C % 3ok HUT 3N A & St =
TET 7T 2] el Teh Afth shl H 3 K & =
TET T 21 &1 9 3Aferes e} s sl K & i<
T AT R D B % 7% shelcl Ueh sF{<h W@ T=IT
€, ST J o U1 18| E 3K Toh qaL
ATE T8 T M 21 ATl H AT G okl a9 1=
@R
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There are nine persons B, C, D, E, F, G, H, J | £
and K are placed one above the another, but ’ \\ \k

not necessarily in the same order. Four

persons are placed between person E and

person C and one of them are placed either at

top or at bottom. Only one person is placed
between C and F, which placed below the C.
Three person are placed between G and H. H Gf

is placed neither just above nor just below C.

~| N[L [V

B
T
D
(A
C
K.

Only one person is placed between H and K.

+

9o |

Not more than two person are placed below ) k A
) A

the K. Only one person is placed between D | / \Q

B, which placed above J. E and K are not

placed adjacent to each other.\ Either H or G

Blaced at bottom.



" P,Q.R,S,T,U,V,W are P,Q, R, S, T, U, V, WTch

sitting in a circular table facing Tﬁw m a; 313‘{@%‘ %l 3
inside. Three persons are sitting E&lﬁﬁ P 3ﬁ-{ Q a;gﬁaa% %‘|
between P and Q. Q sits second '

Q, R % TE 3T g8 4Tk 2

to the right of R.

V is the immediate left of P . V9 P %Wm%l R 3ﬁ-{ S
Two person sit between R and S. %aﬁﬁﬁﬁwﬁﬁaﬁ% U,V

U is second to the right of V. W a?aéx?'ﬁ'{‘ﬁm% W. VT
= 9

is not an immediate neighbour of :
y dcehTeT USTHT &1 2
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PORS, T,U,V,Ware ) © N

sitting in a circular table \’

C 2 N T
acing inside. Three persons 1

are sitting between P and Q. \W Q S

Q sits second to the right of
R. V is the immediate left of P
. Two person sit between R
and S. U is second to the

right of V: W is not an

immediate neighbour of V.
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and
K are immediate neighbours of each other. S sits 3rd to the left of K. The number
of persons sit to the right of K is same as the number of persons sit to the left of D.

e T ET o 4t ST shl ST 0 ek U Ufth H oS &1 M, G o a1 § =1 S |
3T 2l D 3R G o o= Tk Atk 931 81 M 3R P & i< 9 safth 9 21 D IR M & i
3 T SATRAT shl TEAT 34T & & TSTa-1 foh P o 218 3T o ARl shl EE&ATl shalel A 3T
G o site Ueh itk dadT 81 Q, T o o8 ¥ o6 TIH I 93T & 3T A o 18 3T S3dT =l A
3T Q o off<l B8 Afch §3d &l T N K ST Th UL oh (ehedd ISl €1 S, K o o9 & drad
T W S3T 21 K o SR 311 oS safral bl wean 3a-t 2 @ fSal fof D & 91 e saferat hi
e
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A certain number of persons are sitting in a row facing to the north. M sits 4th to
the right G. There is one person sits between D and G. Three persons sit between
M and P. The number of persons sit between D and M is same as the number of
persons sit to the right of P. Only one person sits between A and G. Q sits 3rd to
the left of T and sits to the right of A. Six persons sit between A and Q. Both T and

D
K are immediate neighbours of each other. S sits 3rd to the left of K. The number

of persons sit to the right of K is same as the number of persons sit to the left of D.
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Five persons M,N,O,P and Z have different
designations like Manager , PO, SO, Clerk and
Peon in a Bank. The order of seniority 1s the
same as given above 1.e., Manger 1s the senior-
most designation and Peon is the junior-most
designation. Each person has different number
of bank checks— 19, 23, 35, 39 and 51 but not
necessarily in the same order. O i1s junior to P.
The one who has 39 Bank checks is just senior
to Z . The one who has prime number of pens
is not the senior most person . Atleast three
designations senior to P. N is junior to the one
who has 39 bank checks. The difference
between the bank checks of Z and O is 4. P has
12 bank checks more than M.

Ueh sioh H Ui A ehal M,N,O,P 3T Z %
3TAT-3TAT USTH B ST HASI, 3T, Tga,
Feleh ST TIUHT | ITSAT T shH J=] & ST 3R
foar o 2 o, IR wew ity ue B 31
SOTET o8 {8 TS gl Tceh F<h o e
ITAT-3TAT T&AT | ik 9h B- 19, 23, 35, 39
3R 51 Al STed) 71 foh sEt shE A =M1 O, P
T hHE el Nah g 39 dh A 8, a8 2 0
3ier I B forees I AT ST H U © 98
Ty I E Tl ol 1 9 s 9 9 9 i
U 81 N 39 SIfth © k{8 & fS&es 9@ 39
Sioh <ok | Z 3T O o sich =Ieh o sl AT A

43 PRI MY 12 ok <ok 371 &
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Five persons M,N,O,P and Z have different
designations like Manager , PO, SO, Clerk and
Peon in a Bank. The order of seniority 1s the
same as given above 1.e., Manger 1s the senior-
most designation and Peon is the junior-most
designation. Each person has different number
of bank checks— 19, 23, 35, 39 and 51 but not
necessarily in the same order. O i1s junior to P.
The one who has 39 Bank checks is just senior
to Z . The one who has prime number of pens
is not the senior most person . Atleast three
designations senior to P. N is junior to the one
who has 39 bank checks. The difference
between the bank checks of Z and O is 4. P has
12 bank checks more than M.

ONV= ot 9:00 AM
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